BID TABULATIONS

Contract No:DH00285

WBS No:17BP.8.R.122

County:Montgomery Replacement of Bridge #124 over Little River on SR 1340 (Okeewemee-Star Road)

Bid Opening Date: 8/14/2018 at 2:00 PM

				NATIONAL BRIDGE BUILDERS LLC		R.E. BURNS & SONS CO., INC.		SMITH-ROWE, LLC		DANE CONSTRUCTION INC		EASTERN STRUCTURES LLC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	MOBILIZATION	1.00	LS	\$44,000.00	\$44,000.00	\$47,000.00	\$47,000.00	\$49,500.00	\$49,500.00	\$51,205.00	\$51,205.00	\$51,000.00	\$51,000.00
2	TYPE II MODIFIED APPROACH FILL, STATION 14+98.46	1.00	LS	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$4,850.00	\$4,850.00	\$11,000.00	\$11,000.00
3	GRADING	1.00	LS	\$24,000.00	\$24,000.00	\$84,000.00	\$84,000.00	\$84,000.00	\$84,000.00	\$75,000.00	\$75,000.00	\$80,000.00	\$80,000.00
4	SUPPLEMENTARY CLEARING & GRUBBING	1.00	ACR	\$100.00	\$100.00	\$1.00	\$1.00	\$1.00	\$1.00	\$100.00	\$100.00	\$100.00	\$100.00
5	FOUNDATION CONDITIONING MAT., MINOR STR	10.00	TON	\$30.00	\$300.00	\$1.00	\$10.00	\$1.00	\$10.00	\$45.00	\$450.00	\$40.00	\$400.00
6	FOUNDATION CONDITIONING GEOTEXTILE	10.00	SY	\$1.00	\$10.00	\$1.00	\$10.00	\$1.00	\$10.00	\$2.25	\$22.50	\$3.00	\$30.00
7	15" RC PIPE CULVERTS, CLASS III	24.00	LF	\$60.00	\$1,440.00	\$35.00	\$840.00	\$35.00	\$840.00	\$45.00	\$1,080.00	\$50.00	\$1,200.00
8	INCIDENTAL STONE BASE	25.00	TON	\$30.00	\$750.00	\$27.00	\$675.00	\$27.00	\$675.00	\$32.00	\$800.00	\$45.00	\$1,125.00
9	INCIDENTAL MILLING	250.00	SY	\$15.00	\$3,750.00	\$6.00	\$1,500.00	\$6.00	\$1,500.00	\$20.00	\$5,000.00	\$20.00	\$5,000.00
10	ASPH. CONC. BASE COURSE, TYPE B25.0C	390.00	TON	\$75.11	\$29,292.90	\$75.11	\$29,292.90	\$75.11	\$29,292.90	\$75.11	\$29,292.90	\$104.00	\$40,560.00
11	ASPH. CONC. INTER. COURSE, TYPE 119.0C	210.00	TON	\$71.60	\$15,036.00	\$71.60	\$15,036.00	\$71.60	\$15,036.00	\$71.60	\$15,036.00	\$104.00	\$21,840.00
12	ASPH. CONC. SURF. COURSE, TYPE S9.5B	180.00	TON	\$91.57	\$16,482.60	\$95.00	\$17,100.00	\$91.57	\$16,482.60	\$91.57	\$16,482.60	\$104.00	\$18,720.00
13	ASPHALT BINDER FOR PLANT MIX	40.00	TON	\$630.00	\$25,200.00	\$630.00	\$25,200.00	\$630.00	\$25,200.00	\$630.00	\$25,200.00	\$700.00	\$28,000.00
14	RIGHT-OF-WAY MARKERS	8.00	EA	\$250.00	\$2,000.00	\$250.00	\$2,000.00	\$225.00	\$1,800.00	\$300.00	\$2,400.00	\$200.00	\$1,600.00
15	MASONRY DRAINAGE STRUCTURES	1.00	EA	\$2,000.00	\$2,000.00	\$1,400.00	\$1,400.00	\$1,400.00	\$1,400.00	\$1,450.00	\$1,450.00	\$1,400.00	\$1,400.00
16	STEEL FRAME WITH TWO GRATES, STD 840.37	1.00	EA	\$800.00	\$800.00	\$340.00	\$340.00	\$340.00	\$340.00	\$750.00	\$750.00	\$550.00	\$550.00
17	SHOULDER BERM GUTTER	20.00	LF	\$50.00	\$1,000.00	\$68.00	\$1,360.00	\$95.00	\$1,900.00	\$50.00	\$1,000.00	\$50.00	\$1,000.00
18	STEEL BEAM GUARDRAIL	250.00	LF	\$18.00	\$4,500.00	\$18.00	\$4,500.00	\$18.00	\$4,500.00	\$18.00	\$4,500.00	\$18.00	\$4,500.00
19	ADDITIONAL GUARDRAIL POSTS	5.00	EA	\$11.00	\$55.00	\$11.00	\$55.00	\$1.00	\$5.00	\$11.00	\$55.00	\$11.00	\$55.00
20	GUARDRAIL ANCHOR UNITS TYPE III	4.00	EA	\$1,800.00	\$7,200.00	\$1,800.00	\$7,200.00	\$1,800.00	\$7,200.00	\$1,800.00	\$7,200.00	\$1,800.00	\$7,200.00
21	GUARDRAIL END UNITS, TYPE TL-3	4.00	EA	\$3,150.00	\$12,600.00	\$3,150.00	\$12,600.00	\$3,150.00	\$12,600.00	\$3,150.00	\$12,600.00	\$3,150.00	\$12,600.00
22	RIP RAP, CLASS II	561.00	TON	\$50.00	\$28,050.00	\$25.00	\$14,025.00	\$38.00	\$21,318.00	\$40.00	\$22,440.00	\$1.00	\$561.00

					ATIONAL BRIDGE BUILDERS LLC R.E. BURNS & SONS CO., IN		SONS CO. INC.	SMITH-ROWE, LLC		DANE CONSTRUCTION INC		EASTERN STRUCTURES LLC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE		UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID		AMOUNT BID
23	RIP RAP, CLASS B	40.00	TON	\$50.00	\$2,000.00	\$38.00	\$1,520.00	\$38.00	\$1,520.00	\$40.00	\$1,600.00	\$50.00	\$2,000.00
24	GEOTEXTILE FOR DRAINAGE	235.00	SY	\$5.00	\$1,175.00	\$2.00	\$470.00	\$2.00	\$470.00	\$2.25	\$528.75	\$3.00	\$705.00
25	STATIONARY WORK ZONE SIGNS	478.00	SF	\$7.00	\$3,346.00	\$6.55	\$3,130.90	\$15.00	\$7,170.00	\$7.29	\$3,484.62	\$15.00	\$7,170.00
26	BARRICADE MOUNTED WORK ZONE SIGNS	189.00	SF	\$7.00	\$1,323.00	\$6.50	\$1,228.50	\$10.00	\$1,890.00	\$6.60	\$1,247.40	\$10.00	\$1,890.00
27	BARRICADES (TYPE III)	128.00	LF	\$20.00	\$2,560.00	\$21.00	\$2,688.00	\$28.00	\$3,584.00	\$24.66	\$3,156.48	\$28.00	\$3,584.00
28	THERMOPLASTIC (4", 90 MILS)	1,020.00	LF	\$2.42	\$2,468.40	\$2.50	\$2,550.00	\$2.49	\$2,539.80	\$2.49	\$2,539.80	\$2.80	\$2,856.00
29	THERMOPLASTIC (4", 120 MILS)	1,020.00	LF	\$2.68	\$2,733.60	\$2.50	\$2,550.00	\$2.62	\$2,672.40	\$2.62	\$2,672.40	\$2.80	\$2,856.00
30	SNOWPLOWABLE PAVEMENT MARKERS	7.00	EA	\$100.00	\$700.00	\$55.00	\$385.00	\$20.00	\$140.00	\$20.00	\$140.00	\$40.00	\$280.00
31	TEMPORARY SILT FENCE	1,760.00	LF	\$3.00	\$5,280.00	\$1.80	\$3,168.00	\$1.80	\$3,168.00	\$3.00	\$5,280.00	\$4.00	\$7,040.00
32	EROSION CONTROL STONE, CLASS A	65.00	TON	\$20.00	\$1,300.00	\$1.00	\$65.00	\$1.00	\$65.00	\$40.00	\$2,600.00	\$10.00	\$650.00
33	EROSION CONTROL STONE, CLASS B	155.00	TON	\$20.00	\$3,100.00	\$1.00	\$155.00	\$1.00	\$155.00	\$40.00	\$6,200.00	\$45.00	\$6,975.00
34	SEDIMENT CONTROL STONE	60.00	TON	\$20.00	\$1,200.00	\$1.00	\$60.00	\$1.00	\$60.00	\$30.00	\$1,800.00	\$45.00	\$2,700.00
35	TEMPORARY MULCHING	1.00	ACR	\$1,500.00	\$1,500.00	\$400.00	\$400.00	\$400.00	\$400.00	\$1,100.00	\$1,100.00	\$1,500.00	\$1,500.00
36	SEED FOR TEMPORARY SEEDING	100.00	LB	\$5.00	\$500.00	\$3.00	\$300.00	\$3.00	\$300.00	\$5.00	\$500.00	\$3.00	\$300.00
37	FERTILIZER FOR TEMPORARY SEEDING	0.50	TON	\$1,500.00	\$750.00	\$600.00	\$300.00	\$600.00	\$300.00	\$1,000.00	\$500.00	\$1,200.00	\$600.00
38	TEMPORARY SLOPE DRAINS	200.00	LF	\$5.00	\$1,000.00	\$1.00	\$200.00	\$1.00	\$200.00	\$10.00	\$2,000.00	\$5.00	\$1,000.00
39	SAFETY FENCE	400.00	LF	\$2.50	\$1,000.00	\$1.50	\$600.00	\$1.50	\$600.00	\$3.00	\$1,200.00	\$4.00	\$1,600.00
40	SILT EXCAVATION	150.00	CY	\$1.00	\$150.00	\$6.00	\$900.00	\$6.00	\$900.00	\$10.00	\$1,500.00	\$8.00	\$1,200.00
41	COIR FIBER MAT	100.00	SY	\$10.00	\$1,000.00	\$4.00	\$400.00	\$4.00	\$400.00	\$6.00	\$600.00	\$8.00	\$800.00
42	1/4" HARDWARE CLOTH	95.00	LF	\$5.00	\$475.00	\$2.25	\$213.75	\$2.25	\$213.75	\$5.00	\$475.00	\$6.00	\$570.00
43	COI FIBER WATTLE	30.00	LF	\$10.00	\$300.00	\$3.75	\$112.50	\$3.75	\$112.50	\$6.50	\$195.00	\$10.00	\$300.00
44	POLYACRYLAMIDE (PAM)	25.00	LB	\$10.00	\$250.00	\$3.00	\$75.00	\$3.00	\$75.00	\$8.00	\$200.00	\$15.00	\$375.00
45	SEEDING AND MULCHING	0.50	ACR	\$2,500.00	\$1,250.00	\$2,000.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,500.00	\$1,250.00
46	MOWING	0.50	ACR	\$100.00	\$50.00	\$1.00	\$0.50	\$75.00	\$37.50	\$80.00	\$40.00	\$100.00	\$50.00
47	SEED FOR REPAIR SEEDING	50.00	LB	\$5.00	\$250.00	\$2.30	\$115.00	\$2.30	\$115.00	\$5.50	\$275.00	\$3.00	\$150.00
48	FERTILIZER FOR REPAIR SEEDING	0.25	TON	\$1,500.00	\$375.00	\$900.00	\$225.00	\$900.00	\$225.00	\$1,000.00	\$250.00	\$1,200.00	\$300.00
49	SEED FOR SUPPLEMENTAL SEEDING	50.00	LB	\$5.00	\$250.00	\$2.30	\$115.00	\$2.30	\$115.00	\$5.25	\$262.50		\$150.00

		NATIONAL BRIDGE BUILDERS											
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	LLC AMOUNT BID	R.E. BURNS & UNIT PRICE	SONS CO., INC. AMOUNT BID	SMITH-F UNIT PRICE	ROWE, LLC AMOUNT BID	DANE CONS UNIT PRICE	TRUCTION INC AMOUNT BID	EASTERN ST UNIT PRICE	AMOUNT BID
50	FERTILIZER TOPDRESSING	0.50	TON	\$1,500.00	\$750.00	\$1,200.00	\$600.00	\$1,200.00	\$600.00	\$1,000.00	\$500.00	\$1,200.00	\$600.00
51	SPECIALIZED HAND MOWING	10.00	MHR	\$50.00	\$500.00	\$1.00	\$10.00	\$8.00	\$80.00	\$75.00	\$750.00	\$50.00	\$500.00
52	RESPONSE FOR EROSION CONTROL	13.00	EA	\$100.00	\$1,300.00	\$1.00	\$13.00	\$1.00	\$13.00	\$1.00	\$13.00	\$100.00	\$1,300.00
53	CONCRETE WASHOUT STRUCTURE	2.00	EA	\$750.00	\$1,500.00	\$400.00	\$800.00	\$400.00	\$800.00	\$1,575.00	\$3,150.00	\$500.00	\$1,000.00
54	REFORESTATION	0.10	ACR	\$5,000.00	\$500.00	\$555.00	\$55.50	\$555.00	\$55.50	\$15,000.00	\$1,500.00	\$10,000.00	\$1,000.00
55	CONSTRUCTION, MAINTENANCE, & REMOVAL OF TEMP ACCESS AT STA 14+48.50	1.00	LS	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$16,900.00	\$16,900.00	\$15,000.00	\$15,000.00	\$40,000.00	\$40,000.00
56	REMOVAL OF EXISTING STRUCTURE AT STATION 14+48.50	1.00	LS	\$150,000.00	\$150,000.00	\$37,500.00	\$37,500.00	\$44,050.00	\$44,050.00	\$45,650.00	\$45,650.00	\$50,000.00	\$50,000.00
57	ASBESTOS ASSESSMENT	1.00	LS	\$1,500.00	\$1,500.00	\$700.00	\$700.00	\$1,500.00	\$1,500.00	\$915.00	\$915.00	\$1,500.00	\$1,500.00
58	3'-6" DIA DRILLED PIERS IN SOIL	9.00	LF	\$1,500.00	\$13,500.00	\$1,700.00	\$15,300.00	\$2,868.52	\$25,816.68	\$1,800.00	\$16,200.00	\$2,285.00	\$20,565.00
59	3'-6" DIA DRILLED PIERS NOT IN SOIL	16.00	LF	\$1,500.00	\$24,000.00	\$1,700.00	\$27,200.00	\$2,868.52	\$45,896.32	\$1,800.00	\$28,800.00	\$2,285.00	\$36,560.00
60	PERMANENT STEEL CASING FOR 3'-6" DIA DRILLED PIER	8.00	LF	\$180.00	\$1,440.00	\$180.00	\$1,440.00	\$277.77	\$2,222.16	\$430.00	\$3,440.00	\$240.00	\$1,920.00
61	PDA TESTING	1.00	EA	\$2,000.00	\$2,000.00	\$2,870.00	\$2,870.00	\$3,600.00	\$3,600.00	\$3,000.00	\$3,000.00	\$500.00	\$500.00
62	CSL TESTING	1.00	EA	\$2,450.00	\$2,450.00	\$2,450.00	\$2,450.00	\$3,950.00	\$3,950.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00
63	UNCLASSIFIED STRUCTURE EXCAVA-TION AT STATION 14+48.50	1.00	LS	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$4,100.00	\$4,100.00	\$26,000.00	\$26,000.00	\$5,000.00	\$5,000.00
64	CLASS A CONCRETE (BRIDGE)	67.70	CY	\$850.00	\$57,545.00	\$1,000.00	\$67,700.00	\$881.10	\$59,650.47	\$1,200.00	\$81,240.00	\$900.00	\$60,930.00
65	BRIDGE APPROACH SLABS, STATION 14+48.50	1.00	LS	\$20,000.00	\$20,000.00	\$18,000.00	\$18,000.00	\$20,300.00	\$20,300.00	\$11,200.00	\$11,200.00	\$16,000.00	\$16,000.00
66	REINFORCING STEEL (BRIDGE)	13,804.00	LB	\$1.00	\$13,804.00	\$2.00	\$27,608.00	\$1.14	\$15,736.56	\$1.00	\$13,804.00	\$1.30	\$17,945.20
67	SPIRAL COLUMN REINFORCING STEEL (BRIDGE)	1,150.00	LB	\$2.00	\$2,300.00	\$5.00	\$5,750.00	\$2.86	\$3,289.00	\$2.25	\$2,587.50	\$2.50	\$2,875.00
68	PILE DRIVING EQUIPMENT SETUP FOR HP12X53 STEEL PILES	10.00	EA	\$500.00	\$5,000.00	\$1,500.00	\$15,000.00	\$500.00	\$5,000.00	\$700.00	\$7,000.00	\$450.00	\$4,500.00
69	HP12X53 STEEL PILES	150.00	LF	\$25.00	\$3,750.00	\$32.00	\$4,800.00	\$46.42	\$6,963.00	\$44.25	\$6,637.50	\$40.00	\$6,000.00
70	STEEL PILE POINTS	10.00	EA	\$150.00	\$1,500.00	\$250.00	\$2,500.00	\$210.00	\$2,100.00	\$250.00	\$2,500.00	\$200.00	\$2,000.00
71	VERTICAL CONCRETE BARRIER RAIL	280.00	LF	\$95.00	\$26,600.00	\$165.00	\$46,200.00	\$126.00	\$35,280.00	\$100.00	\$28,000.00	\$110.00	\$30,800.00
72	RIP RAP CLASS II (2'-0" THICK)	565.00	TON	\$50.00	\$28,250.00	\$25.00	\$14,125.00	\$51.28	\$28,973.20	\$51.25	\$28,956.25	\$55.00	\$31,075.00
73	GEOTEXTILE FOR DRAINAGE	630.00	SY	\$2.00	\$1,260.00	\$2.00	\$1,260.00	\$2.65	\$1,669.50	\$2.25	\$1,417.50	\$3.00	\$1,890.00
74	ELASTOMERIC BEARINGS	1.00	LS	\$5,000.00	\$5,000.00	\$4,720.00	\$4,720.00	\$4,100.00	\$4,100.00	\$4,152.19	\$4,152.19	\$6,000.00	\$6,000.00
75	3'-0" X 2'-9" PRESTRESSED CONCBOX BEAMS	1,400.00	LF	\$175.00	\$245,000.00	\$240.00	\$336,000.00	\$249.00	\$348,600.00	\$265.00	\$371,000.00	\$251.00	\$351,400.00
					\$889,301.50	hid Tah	\$952,673.55	'	\$991,283.84		\$1,024,173.89	Page	\$1,032,652.20

\$952,673.55 \$991,283.84 \$1,024,173.89 \$1,032,652.20 bid_Tab Page 3 of 6

BID TABULATIONS

Contract No:DH00285

WBS No:17BP.8.R.122

County:Montgomery

Replacement of Bridge #124 over Little River on SR 1340

(Okeewemee-Star Road)

Bid Opening Date: 8/14/2018 at 2:00 PM

				DELLIN	IGER INC	BLYTHE DEV	ELOPMENT CO
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	MOBILIZATION	1.00	LS	\$53,500.00	\$53,500.00	\$57,000.00	\$57,000.00
2	TYPE II MODIFIED APPROACH FILL, STATION 14+98.46	1.00	LS	\$8,000.00	\$8,000.00	\$9,000.00	\$9,000.00
3	GRADING	1.00	LS	\$84,000.00	\$84,000.00	\$86,000.00	\$86,000.00
4	SUPPLEMENTARY CLEARING & GRUBBING	1.00	ACR	\$1.00	\$1.00	\$1.00	\$1.00
5	FOUNDATION CONDITIONING MAT., MINOR STR	10.00	TON	\$1.00	\$10.00	\$1.00	\$10.00
6	FOUNDATION CONDITIONING GEOTEXTILE	10.00	SY	\$1.00	\$10.00	\$1.00	\$10.00
7	15" RC PIPE CULVERTS, CLASS III	24.00	LF	\$35.00	\$840.00	\$35.00	\$840.00
8	INCIDENTAL STONE BASE	25.00	TON	\$27.00	\$675.00	\$27.00	\$675.00
9	INCIDENTAL MILLING	250.00	SY	\$6.00	\$1,500.00	\$6.00	\$1,500.00
10	ASPH. CONC. BASE COURSE, TYPE B25.0C	390.00	TON	\$75.11	\$29,292.90	\$75.11	\$29,292.90
11	ASPH. CONC. INTER. COURSE, TYPE 119.0C	210.00	TON	\$71.60	\$15,036.00	\$71.60	\$15,036.00
12	ASPH. CONC. SURF. COURSE, TYPE S9.5B	180.00	TON	\$91.57	\$16,482.60	\$91.57	\$16,482.60
13	ASPHALT BINDER FOR PLANT MIX	40.00	TON	\$630.00	\$25,200.00	\$630.00	\$25,200.00
14	RIGHT-OF-WAY MARKERS	8.00	EA	\$300.00	\$2,400.00	\$300.00	\$2,400.00
15	MASONRY DRAINAGE STRUCTURES	1.00	EA	\$1,400.00	\$1,400.00	\$1,400.00	\$1,400.00
16	STEEL FRAME WITH TWO GRATES, STD 840.37	1.00	EA	\$340.00	\$340.00	\$340.00	\$340.00
17	SHOULDER BERM GUTTER	20.00	LF	\$100.00	\$2,000.00	\$75.00	\$1,500.00
18	STEEL BEAM GUARDRAIL	250.00	LF	\$18.00	\$4,500.00	\$18.00	\$4,500.00
19	ADDITIONAL GUARDRAIL POSTS	5.00	EA	\$11.00	\$55.00	\$11.00	\$55.00
20	GUARDRAIL ANCHOR UNITS TYPE III	4.00	EA	\$1,800.00	\$7,200.00	\$1,800.00	\$7,200.00
21	GUARDRAIL END UNITS, TYPE TL-3	4.00	EA	\$3,150.00	\$12,600.00	\$3,150.00	\$12,600.00
22	RIP RAP, CLASS II	561.00	TON	\$38.00	\$21,318.00	\$1.00	\$561.00

					NGER INC	BLYTHE DEVELOPMENT CO		
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	
23	RIP RAP, CLASS B	40.00	TON	\$38.00	\$1,520.00	\$38.00	\$1,520.00	
24	GEOTEXTILE FOR DRAINAGE	235.00	SY	\$2.00	\$470.00	\$2.00	\$470.00	
25	STATIONARY WORK ZONE SIGNS	478.00	SF	\$16.00	\$7,648.00	\$6.80	\$3,250.40	
26	BARRICADE MOUNTED WORK ZONE SIGNS	189.00	SF	\$10.00	\$1,890.00	\$6.15	\$1,162.35	
27	BARRICADES (TYPE III)	128.00	LF	\$28.00	\$3,584.00	\$23.00	\$2,944.00	
28	THERMOPLASTIC (4", 90 MILS)	1,020.00	LF	\$2.42	\$2,468.40	\$3.10	\$3,162.00	
29	THERMOPLASTIC (4", 120 MILS)	1,020.00	LF	\$2.68	\$2,733.60	\$3.20	\$3,264.00	
30	SNOWPLOWABLE PAVEMENT MARKERS	7.00	EA	\$100.00	\$700.00	\$100.00	\$700.00	
31	TEMPORARY SILT FENCE	1,760.00	LF	\$1.80	\$3,168.00	\$1.80	\$3,168.00	
32	EROSION CONTROL STONE, CLASS A	65.00	TON	\$1.00	\$65.00	\$1.00	\$65.00	
33	EROSION CONTROL STONE, CLASS B	155.00	TON	\$1.00	\$155.00	\$1.00	\$155.00	
34	SEDIMENT CONTROL STONE	60.00	TON	\$1.00	\$60.00	\$1.00	\$60.00	
35	TEMPORARY MULCHING	1.00	ACR	\$400.00	\$400.00	\$400.00	\$400.00	
36	SEED FOR TEMPORARY SEEDING	100.00	LB	\$3.00	\$300.00	\$3.00	\$300.00	
37	FERTILIZER FOR TEMPORARY SEEDING	0.50	TON	\$600.00	\$300.00	\$600.00	\$300.00	
38	TEMPORARY SLOPE DRAINS	200.00	LF	\$1.00	\$200.00	\$1.00	\$200.00	
39	SAFETY FENCE	400.00	LF	\$1.50	\$600.00	\$1.50	\$600.00	
40	SILT EXCAVATION	150.00	CY	\$6.00	\$900.00	\$6.00	\$900.00	
41	COIR FIBER MAT	100.00	SY	\$4.00	\$400.00	\$4.00	\$400.00	
42	1/4" HARDWARE CLOTH	95.00	LF	\$2.25	\$213.75	\$2.25	\$213.75	
43	COI FIBER WATTLE	30.00	LF	\$3.75	\$112.50	\$3.75	\$112.50	
44	POLYACRYLAMIDE (PAM)	25.00	LB	\$3.00	\$75.00	\$3.00	\$75.00	
45	SEEDING AND MULCHING	0.50	ACR	\$2,000.00	\$1,000.00	\$2,000.00	\$1,000.00	
46	MOWING	0.50	ACR	\$75.00	\$37.50	\$75.00	\$37.50	
47	SEED FOR REPAIR SEEDING	50.00	LB	\$2.30	\$115.00	\$2.30	\$115.00	
48	FERTILIZER FOR REPAIR SEEDING	0.25	TON	\$900.00	\$225.00	\$900.00	\$225.00	
49	SEED FOR SUPPLEMENTAL SEEDING	50.00	LB	\$2.30	\$115.00	\$2.30	\$115.00	

bid_Tab

ITEM NO) ITEM	QUANTITY	UNITS	DELLII UNIT PRICE	NGER INC AMOUNT BID	BLYTHE DEV	/ELOPMENT CO AMOUNT BID
50	FERTILIZER TOPDRESSING	0.50	TON	\$1,200.00	\$600.00		\$600.00
51	SPECIALIZED HAND MOWING	10.00	MHR	\$8.00	\$80.00	\$8.00	\$80.00
52	RESPONSE FOR EROSION CONTROL	13.00	EA	\$1.00	\$13.00	\$1.00	\$13.00
53	CONCRETE WASHOUT STRUCTURE	2.00	EA	\$400.00	\$800.00	\$400.00	\$800.00
54	REFORESTATION	0.10	ACR	\$555.00	\$55.50	\$555.00	\$55.50
55	CONSTRUCTION, MAINTENANCE, & REMOVAL OF TEMP ACCESS AT STA 14+48.50	1.00	LS	\$40,000.00	\$40,000.00	\$25,000.00	\$25,000.00
56	REMOVAL OF EXISTING STRUCTURE AT STATION 14+48.50	1.00	LS	\$9,000.00	\$9,000.00	\$17,000.00	\$17,000.00
57	ASBESTOS ASSESSMENT	1.00	LS	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00
58	3'-6" DIA DRILLED PIERS IN SOIL	9.00	LF	\$2,000.00	\$18,000.00	\$2,080.00	\$18,720.00
59	3'-6" DIA DRILLED PIERS NOT IN SOIL	16.00	LF	\$2,200.00	\$35,200.00	\$2,115.00	\$33,840.00
60	PERMANENT STEEL CASING FOR 3'-6" DIA DRILLED PIER	8.00	LF	\$250.00	\$2,000.00	\$1,080.00	\$8,640.00
61	PDA TESTING	1.00	EA	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
62	CSL TESTING	1.00	EA	\$4,000.00	\$4,000.00	\$10,100.00	\$10,100.00
63	UNCLASSIFIED STRUCTURE EXCAVA-TION AT STATION 14+48.50	1.00	LS	\$4,100.00	\$4,100.00	\$15,000.00	\$15,000.00
64	CLASS A CONCRETE (BRIDGE)	67.70	CY	\$1,400.00	\$94,780.00	\$1,800.00	\$121,860.00
65	BRIDGE APPROACH SLABS, STATION 14+48.50	1.00	LS	\$25,000.00	\$25,000.00	\$18,450.00	\$18,450.00
66	REINFORCING STEEL (BRIDGE)	13,804.00	LB	\$1.00	\$13,804.00	\$1.00	\$13,804.00
67	SPIRAL COLUMN REINFORCING STEEL (BRIDGE)	1,150.00	LB	\$3.00	\$3,450.00	\$2.45	\$2,817.50
68	PILE DRIVING EQUIPMENT SETUP FOR HP12X53 STEEL PILES	10.00	EA	\$1,000.00	\$10,000.00	\$328.00	\$3,280.00
69	HP12X53 STEEL PILES	150.00	LF	\$41.00	\$6,150.00	\$99.75	\$14,962.50
70	STEEL PILE POINTS	10.00	EA	\$115.00	\$1,150.00	\$203.00	\$2,030.00
71	VERTICAL CONCRETE BARRIER RAIL	280.00	LF	\$120.00	\$33,600.00	\$93.35	\$26,138.00
72	RIP RAP CLASS II (2'-0" THICK)	565.00	TON	\$60.00	\$33,900.00	\$40.00	\$22,600.00
73	GEOTEXTILE FOR DRAINAGE	630.00	SY	\$4.00	\$2,520.00	\$5.00	\$3,150.00
74	ELASTOMERIC BEARINGS	1.00	LS	\$7,000.00	\$7,000.00	\$6,500.00	\$6,500.00
75	3'-0" X 2'-9" PRESTRESSED CONCBOX BEAMS	1,400.00	LF	\$290.00	\$406,000.00	\$334.00	\$467,600.00
		hid T			\$1,072,018.75		\$1,138,058.50